(Counting)
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5
2 AB
3 3 AB BC AC
4 6 AB BC CD AC BD AD
5
AB BC CD DB AC BD CE AD BE AE 10
2 (2-1)_1
2
3 (3-1):3
2
4 (4-1):6




n(n- 1)
2
10
AB+AC+AD+AE+BC+BD+BE+CD+CE+DE
=8+(8+4)+(8+4+5)+(8+4+5+9)+4+(4+5)
+(4+5+9)+5+(5+9)+9
=122

AB+BC+CD+DE+AC+BD+CE+AD+BE+AE
=8+4+9+(8+4)+(4+5+(5B+9+(B+4+5)
+(4+5+9)+(8+4+5+9)

=122
8 4
4 (3" 2) 5 (27 3)
9 (1" 4)
8 4+4(3 2)+5(2" 3)+9(1" 4)
= 8(5- DD +4(5- 2)(2) +5(5- (3 +9(5- 4)(4)
=122
G
A B C D I
AF AF

AB AC AD AE AF BC BD BE BF CD CE CF DE DF
EF =5+4+3+2+1
=15
FG =3+2+1
=6

= (15)(6)
= 90
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28 lcm

ABCD
BC AB

33=9 Jm 272=

4% +3% +22 +1?
30

1lcm 2
= 2(1 + 2) =6

lem 4
=24+2)=12
=30+ 6+12
= 48

(@)

(b)
=(3+2+1)(4+3+2+1)

=60

A D
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B C
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4 4em 1

2cm 1

2cm 2
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(©) =(B+2+1)B+2+1
= 36
() (© 3

(d) @

Bl 3 (1+2 =3
BC BF

BG CG CF 4
= (3)(4 =45

(€

@
=60+36—-3+12+2
=107 (€)
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1 = 4 =64
6(4)2 - (4)(12)+8 =56
64-56=8
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54
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1 9999 1
1 —_—
1 9 1 1
10 99 1 19
9 {11,21,31,41,51,61,71,81,91}
10 {10,11,12,13,14,15,16,17,18,19}
100 999 1 280
90 xyl
x 1 9y 09 9" 10=90
90 alb
al9 b o009 9" 10=90
100 {100,101,...,198,199}
1000 9999 1 3700
900
900
900
1000
1 9999 1 4000
2C(94)
40
A
(40 -1 = 39 A
39 B
(39-1) =38 B
40

=39+38+37+..+3+2+1

_ (39)(39+1)
2
=780
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12.

A D
H
5
B C
13. 2cm
14, 5cm
15. 1
4
L _ 6569
2
=10
= 3(5- DD +4(5- 2)(2) +5(5- (3 +6(5- 4)(4)
=12+24+ 30+ 24
= 90cm
2. AB 6 w =15
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BC 5 ©6-1 _44

2
= 15710
=150
1
2 AB AC 2 D E
F G 2°4=8
2 6 1 3
18
=8+18
=24
12 6m” 4m 4m’ 6m
\xf{\\x/‘},f \My,ﬂ'::;
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| 6m | : 6m |
6m 4m 4 4 8
am 6m 3 3 6
14 12
OC, bC,0C, DC,0C, bC,0C, 7
OC, OC, bC,0C, DC,0C,
bC,0C, 6
OC, oC, OC, 5
oC, OoC, 0OC, OC, 4
OC, oCc, 0OC, 0OC, OC, 3
OC, oCc, OC, 0OC, 0OC, OC, 2
OC, oc, OC, 0OC, 0OC, OC, OC, 1
=7+6+5+4+3+2+1
= 28
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= 4710 =40

6~ 10 =60

18
2C(94)
PORS
- 62 +52 +42 +32 +22 +12
=91
PS lcm 2
=22+1)=6
PQ lcm 6
4cm 1

=26+4+2+1)=26
=91+6+26
= 123
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ABCD BC 7 M=21 AB 3

2
3 = (2D((3)
= 63
EFGH FG 7 21 EF 3 3
63
.'J'L I D
E H
PQ 5 10
10 PXYQ 10 \ L
20 F G
20 B C
=63+63+20+20
=163
10. 36cm? 1
4cm? ACEF 9
.
2cm? ABCD 12
8cm? AJKE 5
F
\" BN
16cm? GHIF 4
=9+4+12+5+1=31
1cm? DFED 36



2cm? DAFE 36
4 Acm? DFGC 24
F F 1
G [
8cm? DFGI 16 FGHI
4  DFGI
9cm? DFLN 8
k F
L L,
18cm? DFGI 4
=36+36+24+16+8+ 4
= 124
4 6
- 6 6=36
AOPE AO
10 oP 3 3 s
10" 3 = 30
GROQI 30
3°3=9
=36+30+30-9

= 87
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11. 19 9 1=9
1
L
10 99 90" 2 =180
100 999 900" 3 =2700
1000 9999 9000" 4 = 36000
9+ 180 + 2700 = 2889 < 6869
4 X 4
9+ 180 + 2700 + 4x = 6869
4x = 3890
X =995
1000 1 4 995 4 1994
1994
2C(94)
12. 4
3 2
443 48cm®
3736 54cm®
48cm®
13. 5cm = 5 = 125cm®
= 125,1=125
4cm
lcm
=125- 4° +1
= 62
3cm
2cm T
3cm
s |

1cm
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15.

lcm
3cm
5°5" 2
=1+7+[125—-

A B C D E 5

2cm
2cm
3 - 7(23)] =50

XY Z2 3

9
X Y Z
9 1 4 6 7 8 9
DAXE(2) DAZE  DXZE(3) DXYZ
DXCZ
9 25
XY Z BD Y CE
BD 5 10 C E
10 DEDC DEZC DEBC
DEXC DABE =10+10+2+2+1=25
2 64
8
4 =
1 3

=64-8-24-12=20
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4 =24

8+6-2=12
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